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// Third Procedural Programming example
// contrasting primitive and reference parameters

//import java.util.Arrays;

class Prog3 {

// How can we have two methods using the same name (swap)?
// because of method
private static void swap(int m, int n) {

}

m

int temp = m;
n;
temp;

n

private static void swap(int[] list, int i, int j) {

int temp = list[i];
list[i] = list[]];
list[j] = temp;

public static void main(String[] args) {

// Respond to the 4 parts below
/7

// 1. Trace the code below to determine output I.a. and I.b. at the console

int x = 4, y = 9;

System.out.println("I.a. : " + x + " " + y);
swap(x, Y);
System.out.println("I.b. : " + x + " " + y);

// 2. Will the output be different if the formal parameters were named
// x and y instead?

// 3. Draw the memory diagram as we did last class to show
// you understand the underlying mechanism involved in copying
// the primitive values passed to the method.

// 4. You can make the swap work if the values are stored in an array
// 4.a Write the three lines to define and stores the two values

// an array called list (or the one line shorthand version)
//int[] list = {x, y}; // shorthand

//System.out.println("II.a : " + list[0] + " " + list[1l]);

// 4.b Call the method to swap the two values

//System.out.println("II.b : " + list[0] + " " + list[1l]);
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97 // 4.c Try to draw the memory diagram for this array case
98 // given that for reference the copied value is the address of the object
99 // (like with Python aliasing)
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